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a) What is the traceability and what affect ha
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Question 1 [20 mark, 5 each ]

s on maintainability of the software.
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Complexity is an inherited attribute of the software development, discusses the
software complexity, in your discussion consider the role of modeling with

dealing with software conjplexity.
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¢) Differentiae between application domain and the solution domain, and what is/are

the advantages that object oriented approach has over the structured approach
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d) How is use-case diagramming related to functional modeling?
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S
. Question 2 [25 mark ]

/ Part One: Specify Which of these statements are functional which are non-functional. [10
{j\_ mark, 2 each]
e a) The system should provide aufomatic verification of corrupted links or outdated
s data

.
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b) An internal naming convention should ensure that records are unique
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¢) Communication between thg“database and servers should be encry
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d) Files should be organizable into groups of file dependencits
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e) The system must handle 50,000 users concurrently
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Part Two: What is wrong with the following set of requirement and comment in their
solution/s. [15 mark, 3 each]

a) The system must be robust.
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¢) The database should be distributed over many =
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d) The system must be produced at minimum cost
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e) The system should be fast /
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Question 3 [10 mark, 5 each]

Assume the following:
. ) . . rd when
* asystem at the dentist office allows a patient to review hls'/het;2 r:;grd it
requesting an appointment to meet a dentist. The ViewPatien
provides a list of the past visits. b
: i : ct one
* the system retrieves a list of available time from WI:HCh the patient can Selfjoctor’s
slot that suits him/her. The ViewDoctorAvialableTime featur.e retrieves a
available time table which is divided into slots each slot30 mins.

a) What is the relation that you should use to relate the bookAppointment with
ViewPatientRecord and with ViewDoctorAvialableTime. Justify your answer.
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b) Draw part of the use case diagram to répesent the above question.
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Question 4 [45 marks]
Draw a use case diagram for an ATM machine with the following functionality. A customer’s
interaction with the system involves logging in, making withdrawal reguests, deposit requests,
and balance inquiry requests. If the customer logs in, there 1s a possibility (although rare) that the
system will confiscate the card (for example, if the login is incorrect or if the bank determines
that the customer’s balance is significantly under zero). Card confiscation involves l{j\g‘gsringjn
alert, which will be received by the branch manager of the bank. s does a balance
. . AAANANAL o ¥ . :
inquiry, this of course causes the system to check the alance/Checking the balancéjis also done
A AAAA NS A ralne LR . .
when the customer requests a withdrawal, since the system must VETLLY TIATenoUgh money is in
his account. In principle, checking the balance is a function that may be performed to support
NP ar
many use cases throughout the system.

ete. .

a) Write two scenarios for the customer to withdraw amount form the ATM. The first
scenario the customer get the money, the second scenario the customer has entered a
wrong amount and notified by the ATM, i.e the customer enters 50 JD and the accepted
amount should be multiple of 20 JD note). [10 mark, 5 each]
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ave wrote in part a, identify the actors, then write the

b) Considerthescenario you h
iven in the lecture. [10 marks]

withdraw use case according to the template g
e adsrs n ?u\- A oM CASEMES.
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¢) Draw the use case diagram in which you show the actors, use case an relationship

between the actors and the use cases and between use cases. [10 ma arks)
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d) From the use case event you have dev
their responsibilities. [5 marks]
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e
e) From the Use case in part b derive two functional requirements and two non-functiona]
requirements (one usability and other efficiency). Your requirements should be clear anq ‘
verifiable. [10 marks, 2.5 each] \
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